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QUESTION 1
You work as a consultant DBA for various clients. A performance issue in one of the online transaction processing
(OLTP) systems is reported to you and you received the Automatic Workload Repository (AWR) report generated in the

database. The main sections of the AWR report are shown in the Exhibits. View the Exhibit named DBTIME and note %
DB Time.

Top & Timed Fareground Events
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View the Exhibit named TIMEMODEL and note what has contributed to % DB Time.
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View the Exhibit named EFFICIENCY and examine the various percentages shown.
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Instance Efficiency Percentages (Target 100%)
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Identify the option that has the correct answers for the questions given below:
1) Which factor indicates the main problem?

2) What is the main problem?

3) What solution would you recommend?

A. 1) The Exhibit DBTIME shows that the DB CPU event consumed very high % DB Time. 2) The CPU is very slow. 3)
Increase the number of processors.

B. 1) hard parse elapsed time has the majority time in parse time elapsed, which is shown in the TIMEMODEL Exhibit.
2) This is due to inadequate Database Buffer Cache. 3) Increase the size of database buffer cache.

C. 1) sql execute elapsed time and parse time elapsed are consuming very high % DB Time in the TIMEMODEL Exhibit.
2) There are too many soft parses. 3) Investigate the HOLD_CURSOR parameter setting in the application and set it
appropriately.

D. 1) % Non-Parse CPU is low and Soft Parse % is also low in the EFFICIENCY Exhibit. This shows that very few
statements are found in the cache. 2) There are too many hard parses. 3) Investigate the CURSOR_SHARING
parameter setting and set it appropriately.

Correct Answer: D

QUESTION 2

View the Exhibit and examine the content.
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8QL> SELECT tablespace name, tablespace size, allozated space, fres space FROM DEA TEMP_FREE_EPACE;

TABLESPACE NAME TABLESPATE 3TIZE ALLOCATED BFPFACE FREE_S3FPACE

TEMP_ T 1572RAR4NN 144N4A TRTRZNA R4
TEME 105506176 1059 C

90L> JELECT (s.tct ussd blocks/f.total blocks)*100 Ftused
Z FROM (3ELECT SUM(used blozks) tot used block

FROM V§3ORT SEGMENT @
WHERE tablespace name='TEMP L") s, o

[SELECT 8UM(blocks) total blocks *

FROM DEA TEME _FILES3

WHERE tableszpace name='TEMP L") E;GQ

=1 oy o Wl

FCTUIED

ALLOCATED_SPACE and FREE_SPACE indicate that a large amount of space is allocated to the temporary
tablespace that is being used. Which action would reclaim the space and refresh these values?

A. shrinking the tablespace

B. closing all the current sessions

C. restarting the database instance

D. forcing a checkpoint or waiting for a checkpoint to occur

Correct Answer: A

QUESTION 3

You are working on a decision support system (DSS). The index is available on the COUNTRY_ID column of the
CUSTOMERS table.View the Exhibit and examine the parameter settings and the query execution plan.
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db file multiblock read count integer 45

SQL> SELECT BLOCES, EMPTY BLOCKS FEOM ALT. TABLES
WEERE TAHLF HWaMF = 'CUOST';

BLOCES EMPTY BLOCES

SQL> EXFC DBMS STATS.GATHER TRBLE STATS('S5H', "COST'):
PL/SQL procedure =successfully completed.
d=52780;

SQL> select cust id, cust last mame from sh.cust where

T40E80 rows selected.

Execution Blan

Plan haesh value: 260468903

| 0 | SELECT STATEMENT | 1303E]| 793 (i)| 0O0:00:10 |
|* 1 | TABLE ARCCESS FULL| | 1303E]| 793 (1)| 0G:00:10 |
Predicacte Information d by operation id)

1 = FfiYEer{™
Statistica
0 Tecursive calls
0 db block gets
Te59 conslistent g=t=
2848 physical reads
0 redo size
1584703 bytes sent via SQL¥Het to client

Z4T3E Dbytes received via SQL*Net from client
4840 SgL*Net roundtrips to/from client

Why is the query using a full table scan instead of an index scan?
A. because the histogram statistics for the COUNTRY_ID column are not updated
B. because the index statistics for the index on the COUNTRY_ID column are not current

C. because the DB_FILE_MULTIBLOCK_READ_COUNT initialization parameter is set to a higher value
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D. because the optimizer predicts that most of the blocks in the table are accessed. Therefore, it uses a full table scan,
even though indexes are available.

Correct Answer: D

QUESTION 4

Identify two correct statements about the Active Session History (ASH) data. (Choose two.)
A. A part of SGA memory is used to store ASH data as rolling buffer.

B. The ASH data can be analyzed between any two small time intervals.

C. All ASH data in memory are flushed to disk by MMON in every 3 seconds.

D. All ASH data in memory are flushed to disk by MMNL process whenever the buffer is full.

Correct Answer: AB

QUESTION 5

In which case is the database buffer cache NOT used?

A. when physical I/Os are performed to read from data files

B. when the database writer process writes to the SYSTEM tablespace

C. when the server process writes sort data to the temporary tablespace

D. when the database writer process writes undo data to the undo tablespace

Correct Answer: C
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